Group 4 GS Model Test

Prepared By www.winmeen.com

Winmeen - Group 4 VAO General Studies Model Test 15

1) 5% Fm&AReS wevoll earedrm LUHW HH
QUPRIGL eapuilamear dbHS  STET
Q& mevor(h) UBHSITH?

A LammhIST B. &1&UIJ

C. 9BFM&HT D. @O L0IT W, 60T

Which king introduced Chain of Justice in the field
pf Justice?

A. Jahangir B. Akbar

C. Ashoka D. Humayun

2) UHMTHEGSGenM HS) eTedTMTEL 6TEdTEOT?

A. JHOING&HGLD @MEGLEESGLD

@ enLGuiweTer @ emL G a6
B. gD DIDG LoD QILD @QMESLLHSHES G 6L G
2 676 @emLQeueflemt Qeuefl &L eoledBHHS

&P STV HemLLILIGI

C. e OQWMSEH QFaTEHMGLD
QTS  QMHATUSGGD  @enLGuiuleTer
@ emLGeuerl

D. QUMEs eu@eaumuiley @mbs Qeuerfl
&L 06T HLNGH0 G LD.

What is a Fiscal deficit?

A. It is a gap between the values of the exports and
imports

B. It is a gap between exports and imports minus
external borrowing

C. It is a gap between total expenditure and total
receipts of the government

D. It is a gap between total receipts minus external

3) BUQU@BLD YeTey 6uU(BLLD 6TeT 6Tems
P EFH CMITID?

A 1921 & Um& goul L ISUQLIH D& &6
QBTG QUeTIFR 6f5LD

B. 1921 & LIm©& gmUL L Genmibg Limedleor
A& I

C. 1921 & WM& gohULL Gombs @mLlL]
izl

D. GLOM&600TL. |6M60TSH SN

The year of great Divide refers to ___.

A. Rapid growth rate in population after 1921

B. The declining sex ratio after 1921

C. The slow down in death rate after 1921

Learning Leads To Ruling

D. All the above
4) Qeuwil V&S LW6TU(H S SILD (860 6T60T60T
BINSH 6L @)\ ([H&HS Ceuevor(hHLD?
A. &[BLIL
B. Gomymd QeueTemeT WMMILD 2 L LjMmLD
&SHLIL
C. Gumumld &@OmLL wWwMHMIWL 2 L Lmlbd
QeueTemerT
D. Gleue6Tem 6T
The best suitable colour for an umbrella during
sunny daysis .
A. Black
B. White on top and black on the inside
C. Black on top and white on the inside
D. White
5) Eflunerens CHTHAS M.
1) 69 9IeMmeVGET QauMMILSFHL LITaUTS.
2) UM 2e1&HM8E SEHTHET THHT 3I6016056T

AGLD.
A 1L (BLD B. 2 DD
C.1&2 D. 6T&a]LD @)6V6I6V

Choose correct statement.
1) The sound cannot pass through the vacuum
2) Ultraviolet waves are mechanical waves
A. 1only B. 2 only
C1&?2 D. Neither
6) SLEsauTLauMmIeT  @umensuiley
STennwng HeL&GD Seoflnmser
eTed6eU?
1) SITUug
2) HMHIGLD
3) YemmL_1q 60T
4) Qeueier]
A 1&2 B. 1,2&4
C. 3&4 D. 2&3
Which of the following elements are exists free in
nature?
1) Copper
2) Gold
3) Platinum
4) Silver
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A 1T&2 B. 1,28&4
C. 3&4 D.2&3
7) QUM S5 SI5.

a) JL_fleoredledr — 1) GSMULD WMHMILD LILILD

b) eV GMee — 2) eUTFem6TUI6T eLn6uLd
@ 6TEH&UTFR

) @) 601869160 — 3) G\LI6TOTS: 6T

d) LGrmGLometTery —4) &EH&HESHT6N

Al 3 4 2
B3 1 2 4
c2 4 1 3
D.4 2 3 1

Match the following.

a) Adrenalin — 1) Anger and fear

b) Estrogen — 2) Attracting partners through sense of
smell

¢) Insulin — 3) Females

d) Pheromones — 4) Glucose

A1 3 4 2

B.3 1 2 4

c2 4 1 3

D.4 2 3 1

8) &riflwmer samenm CHIHASM.

1) miR w,Cev ererLell @BHW CHAW
STRSBTFeOl6T (NS @BHWT 3LV
SH6M6VEUITTEUITI.

2 @bHW GCHAW STRRTFT (NS
LTHILIG60 @HSHWT PWeISHID @\ BHSI 72
TS BB &6T &H6evbHE G&TevoTL 60T .

A.1 L (LD B.2 DL (HLD

cl1&?2 D. 6T&I6|LD &)6V6mI6V
Choose the correct statement.

1) George yule was the first Non-Indian President of
Indian National congress

2) 72 delegates from all over India attended the first
session of Indian National congress

A.1only B. 2 only

C1&2 D. Neither

9) L9) 65T6U (15 61 6TTEU () 60V D) &IT6v
auflensFliL(0 S SI5.

1) &3Sl UIGDT QUTELITLITES

2) G&HSIT FHHWTHISHLD
3) Q&Feifl QF e BlHLFR

Learning Leads To Ruling
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4) HWITRWE &G uller GxmmmLD
A. 3-2-4-1
B.2-1-3-4
C.2-3-1-4
D. 4-2-1-3
Arrange the following in chronological order.
1) Jallian wallabagh
2) Kheda sathyagraha
3) Chauri-chaura incident
4) Swaraj party
A. 3-2-4-1
B. 2-1-3-4
C. 2-3-1-4
D. 4-2-1-3
10) supreaTens C&THAS M.
a) Wevedlb 668 1940 1Q&FLDUF, 22 QD
BTen6T (D& 6m6V [BITETTSH SeUF 5SS
b) SeflBUT FHWTRISHLD HCLMTUT 17,
1940 9j60TMI QSTLMBIGLILIL L GI.
A. 1 L(Ld B. 2 0L(hLD
C.1&2 D. 6I3l6|LD ) 6V60I6V
Choose the wrong statement.
a) Deliverance day was observed on 22, December
1940 by Muslim league
b) Individual sathyagraha was launched on 17, October
1940

A.1only B.2 only

C1&z2 D. Neither

11) UMM QUTIHHS) W ETemTen s
CsTHOSMH.

A LFFS RNEHHHIW &HLDGLIeoI - 1602

B. 9BIF VS RPEHRHHIE &G — 1600
C. NQTEH&& HPERHH WS S LI6T] — 1664
D. GUMISSIGFR W RP&ERBHH W SO L6 -
1628

Choose the incorrect pair.

A. Dutch East India Company — 1602

B. British East India Company — 1600

C. French East India Company — 1664

D. Portuguese East India Company — 1628

12) G LD & 600T L6 M M1 61T Fiflwmereng
CsTHOSMH.
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1) Galullermy U gsimel usHWTE
SHMEHERUN 60T BlemeoTauma UL LILILL G,

2) & simalser 955 STl
aedlymss GCuaild o6TL STl (heugbeor
VB GUIMLFD el  (WOLQU|LD  6TeoT

BLOLNeoT .
A. 1L B. 2 L(HD
C.1&2 D. 618D @)6V6DI6V

Choose correct statement.
1) Qutbminar was constructed in remembrance of sufi
saint Qutbuddin Bhakthiyar kaki
2) Sufi saints laid stress on inner purity and considered
love and affection as the means of attaining salvation
A. 1only B. 2 only

C 1&2 D. Neither
13) TS @HS W eulbFmauSlulleory eflgemeu
WIS SI&HE LUMLLTD ereorm euiflemw
NS G georiy?

A. (LPSEVITWITEH 6T B. Lfelq eumE: s 6T

C. FIOLUTTWI&ET D. &H©henF [BITUISHE[TE6T
Which Indian dynasty imposed a tax called Patdam on
remarriage of windows?
A. The Mughals
C. The sambhuvarayas D. The Nayaks of Tanjore
14) G LD 8 600T L6 M M1 61T Fiflwumereng
CsTHOSMH.

1) &CIHHIBTS LIMETFEI], 260THSH GLOMTE60T
GUMe 2 L6l @emettihg @QBHW CHFW
HLN&HHNG 1876@)6V QGITLBIG6OTTI.

B. The peshwas

2) &FCIHHIBMNS  UMeTyel 1879@) 6V
QUMISTES 6T60TM LSS flen g emul
QB TLBIGETITH.

3) @aul @bBHw CHAW  SHTmEIG Ferdledt

FHEM6ELAUT TS ) (Wemm NG
CHIHASHHHHLILILLITH.

A 1T&2 B. 2&3

C1&3 D. 1,2&3

Choose the correct statement.

1) Surendranath Banerjee founded the National Indian
Association with Ananda Mohan Bose in 1876

2) In 1879, he started the newspaper called Bengalee
3) He was elected as President of Indian National
Congress for only once

Learning Leads To Ruling
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A 1&2 B. 2&3

C 1&3 D. 1,28&3
15) SUMITS QUIT(HHS) W 6TeTen s
CsTHOS M.

1) uUbuTl smrsegesv  wrprh - W.C
Limeor &gl

2) GI& sMmIGFev BTG - Freq ammi
Gurmeny

3) BM&WT  &Th&Syey rpmh -
W rmTseungamif

4) VMG SMHRIGTEN MBI - 26UAMTEVITEY
GCh®
A1&2 B.2&3
C1&3 D. 6781610 )6V6Mm6V

Choose incorrect statement.

1) Bombay congress session — W.C.Banerjee

2) Surat congress session — Rash behari bose

3) Nagpur congress session — Vijayaragavachari

4) Lahore congress session — Jawaharlal Nehru

A 1&2 B.2&3

C 1&3 D. None

16) @\IH&IH&EHLD, (P6MVESIDGEHLD @)\ HHIWIT
TOT&H TN PSBW  umemeuuiledt @B
& 600T G 61T 6TEOTMI SN WLIGUIT WITIT?

A GRmHUT LG

B.5J eM&FWG &N SHIT60T

C. peurmLl &eSpeveurT

D. (P& G 169 gledTenr IT

The Hindus and Muslims are the two eyes of the
beautiful bird that was India- whose comment it
elwas?

A. Jhothibapule

B. Sir syed Ahmed khan

C. Nawab salimullah khan

D. Muhammad Ali Jinna

17) Q&F6L GaTLUMB UMM SBLh& s evorL

. M1 &erfl 6L TSl jeLeugl eTem6U
siflwmeoremeu?

1)  SDTEHS  QFLHEBD QF6I6S
6119 QUITEOTEDIEL.

2) 2 Wifleormigefler aumbeller jiqLliLlemnL
VS QF 6L QG LD.
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3) 3| ETH G Q&F6L&HEHLD LFeng

Blplgsener QUMM [HEGLD.
4) SMTHE QFSEH el LTH6N

wohmih Wwumdev QFe  UGLIL &6
GLMOSHTETEHLD.

A1&3 B.3&4

C.2 bL(h\D D.3 LG

Which of the following about cell theory is/are
correct.

1) All cells are rectangular in shape

2) Cell is basic unit of life in living organisms

3) All cells are having chlorophyll pigments

4) All cells are undergoing mitosis and meiosis cell

division

A1&3 B.3&4

C.2 only D. 3 only

18) BeullLFenFLILTF Seit umlw

FiflumeT samm ergI?

1) BeoluFensFll umHsefledr QFe&He6T
LCImGas WML auem&HemU FTHHS 606,

2) BeolugFemsll umHsefley Gl
2 eooTe Ll QUMB6T GeullGeorifledr.

3) F6l6)| GLPHS G600flHMmIGET HevlILIFmFLI
LUTE &erfledr QFevaserflev @)6L6m6V

4) e g UWlenp &6 HeuliLFengLl LImTF serfley

©)6VEDI6V.
A 1,284 B.2,3&4
C.1,3&4 D. 3|6060TSH SILD

Which of the following statements correct
regarding Blue Green Algae.

1) The cells of Blue green algae are prokaryotic

2) The storage food product of Blue green algae is
laminarin

3) The membrane bound plastids are absent in the
cells of blue green algae

4) Flagella are absent in blue green algae

A 1,284 B.2,3&4

C.1,3&4 D. All

19) wrnsefledr 2. MG SeTOWNES
SITITEU0TLOTEOT H&E& 6T 6Temou?

A. &6Vl LDMMILD LIGETTWlLD

B. em&F6uLD LDMMILD e GerflTedTem s Lorm

C. UMeiTemas L0 LoMmmiLh 6rv &l erflgesrem & Lo

Learning Leads To Ruling
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D. LGeTITWILD LOMMILD LIMTF60T6m & L0
The strength of trees are due to the presence of ____
tissues.
A. Xylem and Phloem
B. Xylem and Sclerenchyma
C. Parenchyma and Sclerenchyma
D. Phloem and parenchyma
20) Fiflwmetens CEHTHAS M.
1) GUITEOOTL_IT 62(I1H QI HTMMIS SHTEUTLD.
2) @5 6L QEUEITLNGT H& 2 6Tl
3) @& 2EHFCWTENVELIFLD STeFLD.
A1T&2 B.2&3
C.1&3 D. 36M60THSILD
Choose correct statement.
1) Vanda is an Epiphyte
2) It has velamen tissue
3) It is an Angiosperm plant
A1&2 B.2&3
C1&3 D. All
21) WBsFFAPw oo WYsuauflu 5ss
Q 6UGITED 6T {§TV) & & 61T 6T6DI6U?
A. GLTGeTmemn &L LoMMID 6N DCUMTen&FL
B. Blw,L_GrmaLilev LoMmmILD FF&FGeoTmem L6y
C. GUGsFTLIev LMHMILD SbCUITem &L
D. e9DCUMenFL. LoMMILD GLOMGeoTmengF L
The smallest and largest white blood corpuscles are
A. Monocyte and Lymphocyte
B. Neutrophil and Eosinophil
C. Basophil and Lymphocyte
D. Lymphocyte and Monocyte
22) Frfluns QUITIHHS) W eTemTen s
CsTHOSMH.
1) UMQFHLLA - 3L600THEH&HSHTET BITHST
HHSHSHOL (LMD
2) LWOUSLL - 2L600T&HE@h&HSHTeT BlITHST
HHSHSHOL (LMD
3) STUUF T - QUETTHEHSHSHTET &MEsmedlss

HHSHSHOL (LMD
A1&2 B.2 &3
C.1&3 D. |6MeTHSILD

Choose correctly matched pair.
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1) Vasectomy — Permanent birth control method for
males

2) Tubectomy - Permanent birth control method for
males

3) Coper T — Temporary birth control method for

females
A 1T&2 B. 2&3
C.1&3 D. All
23) Fiflmerensd CEHTHAS M.
1) QeuettL_flGeury L W6 GLITeY

QLIDULTGWM CUME NemFFHHT 6UmeLe)]
FeQrerm HM&HELILIMG6USTE L LI 6T6dTm 6260
CaLasUUQRMmS.

2) QeuetiflGeumy FlenGLmedledT
FME&SLILGEUSTE QSMTL5H&H5H60 e L_flGuwm
QeuetT_flGeumh aumeva] el LILI(Heugmev 6uLl
6TedTM FH5D CHELSLILOH M.

A. 1L B. 2 L_(hLD
C.1&2 D. 6T&Ia|LD &)6V6DI6V
Choose the correct statement.

1) Dubb sound is heard when there is sudden opening
of semi lunar valves at the beginning of a ventricular
diastole

2) Lubb sound is heard when there is sharp closure of
Atrio-ventricular valves at the beginning of a
ventricular systole.

A.1only B. 2 only

C1&2 D. Neither

24) Glps&seuTLeummieT FiflwmeTeumMenm
CsTHOSMH.

1) Gauemev = allen & * @LLUIQUWTFF
2) BmeiT = Gauemey / SITEVLD

3) ellem& = Blemm * FemdF GeussLn

4) W(H&ELD = HlemdF GeaussLd / SMeuld
A1,28&3 B.1,28&4
C.2,3&4 D. Q6M6TH SILD
Choose the correct pair.
1) Work — Force * Displacement
2) Power — Work / Time
3) Force — Mass * Velocity
4) Acceleration — Velocity / Time
A1,28&3 B.1,28&4
C.23&4 D. All

Learning Leads To Ruling
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25) Qeueterfl S@HemMD HIMWLOMS WLOMM
&ITIT6UOTLOITEOT 6UITW 6TSI?

A. SITTLET 0L 8608 (h

B. F6LLIT 60 2,560 F (D)

C. 60amL_[J2260T F6LemLI(h

D. éMBL_JR60T 60 505 (bh
Which gas turns silver has black colour ___.
A. Carbon-di-oxide
B. Sulphur-di-oxide
C. Hydrogen sulphide
D. Nitrogen-di-oxide
26) QUIT(H S SI18.

a) S60f10 eUemS LM — 1) 6veumlerdlwiy

b) oigm Blemm — 2) GlLnevorL656l

C) 2|ev) 6T6v0T — 3) MBI, GeV6voTL.

d) etevorLn ed1G) — 4) GLOmenGev

A2 1 3 4

B.1 2 4 3

C3 4 2 1

D.4 3 1 2
Match the following.

1) Classification of an element — 1) Lavoisier
2) Atomic Mass — 2) Mandaleev
3) Atomic Number - 3) Newland
4) Law of Octaves — 4) Mosley

A2 1 3 4
B.1 2 4 3
C3 4 2 1
D.4 3 1 2

27) 2_6IT @ 60L[Blem6ev s & 60f1LOMIG6IT 6T60TLIS
A &MY 2 GeuM&Hld WMMID  SITTLO600T
2 GeuM&Lh

B. FTLG&HITRE0T LDMMILD LDHS UMWY

C. 2_LiSlevfl &6t Lnmmild &MY 2 GeumaLD

D. 6VITH&H6060T(H &6 LOMMILD 2, 8519 60)60T(H) & 6T
Inner transition elementsare .

A. Alkaline metal and Alkaline

B. Chalcogen and Inert gas

C. Halogen and Alkaline metal

D. Lanthanides and Actinides

28) GlhE&sauTLeumMIeT FiflWmer Samenm
CsTHOSMH.
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1) Ga&meT s&mmiliLmengsuiley Wles Geuskslnms
FMHMILD C&HITET L|SH60T.

2) QFeuaml GiflulemenT @BLnemm &mmledr
687 BITLG6T TS SIEHQSTATH M.

3) FeflaGasmer @& fluweflLA®BHS BHSTD
OL STV SeLNHSI6TETSI.

A 1T&2 B. 2&3

C.1&3 D. SIeM60TSHSIN

Choose the correct statements.

1) Mercury has the fastest orbital motion

2) Mars requires 687 days complete one revolution
3) Saturn is fifth planet from the sun

A1&2 B.2&3

c.1&3 D. All

29) SLh&euTLeummieT FflmeTsl e15I?

1) @urssHfl QAsTLGSHGD afleumeds
QBTL(HSHGD @emLulley @UIFFs) QST
S|60LDH SI6TETS.

2) LDEMEVSHEBHE G @60 GUI @ UIMEmNSHUITEHG6
MBS LITEMS SH600TRUIT U 6T6oTLILI(HILD.

A. 1L (LD B. 20D

C.1&2 D. 6T&Ia|D @)6V6DI6V
Choose correct statement.

1) Himachal lies between Himadri and Siwalik ranges
2) Passes are the natural gaps across the mountains
A. 1only B. 2 only

C 1&2 D. Neither

30) @BHBHW sSTHS6IL WsEE Gombhs
UrLuerellev 2_6Term S 6Uem S 6TSI?

A. SJUWI60TLD600TL_6V LIG60)DLOMMIT &T(H & 6T

B. ©JWI60TLD6DOTL_ 6V (LSBT ST(H 6T

C. 531U BleV&HSHT(H &6

D. 91,6060)LI6T &IT(H & 6T

The lowest cover of forest type in Indiais ____.

A. Tropical evergreen forests

B. Tropical thorn forest

C. Mangrove forest

D. Alpine forest

31) SLHHEITL FaMMS&EL Heummers)
T51?

A. &IflFev  1D6TOT QUEBLLMEID (GBI,
NSTITEITT IMHMID SEHW LNTCHEFHH 6V
& meoor ILHSR Sl

Learning Leads To Ruling
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B. &iflFev nevor &Il BIMSH L 2_6T6rngl.
C. 5flFev nevor CHMTHIMD NeMTFEFNG G
JOOS!.
D. &IflF6V LD6UOTEM6TOT  QLLPLOMEOT  S(BLILY,
LSHIW ST &HHLIL WMHMID Ceu&FmeT &H(pHLIL]
eteor GlemevorLl LN ifleyssermss Lfléseumib.
Choose the incorrect statement.
1) Black soil is mostly found in Gujarat, Maharashtra
and Madhya Pradesh
2) Black soil has black colour
3) Black soil is ideal for wheat cultivation
4) Black soil can be divided into deep black, middle
black and light black
32) sueuSleTmevgsl eTadTLISI
A. LDemLpem WL LMl LG LIl
B. ledTeuTem6n LIMMlUl LILg L]
C. leusmwgems Ll Limmilul LilgLiL|
D. @LpBlemev LnesorL_euid LiMmIul Lilg L]
Fulminology means ____.
A. Study of Rainfall
B. Study of Lightning
C. Study of Agriculture
D. Study of Eco-system
33) SaUMTS
CsTHOS M.

1) BT - IDSH W LNyCH&FLD

2) BHST CHal - 2 55 08MevorL

3) LOIT6OTEN - QEFITLD

4) BITSLILUT - [HevormEFFeVLl LNITCHFLD
A 1L BLD B. 2 DD
C.3&4 D. 6T&I6|LD @)6V6mI6V
Choose incorrectly matched pair.
1) Kanha — Madhya Pradesh
2) Nanda devi — Uttarkhand
3) Manas — Assam

QUTIHHS) W ETemTen s

4) Namdhapa — Arunachal pradesh

A. Tonly B. 2 only
C. 3&4 D. None
3) e geflmer  eTedrm  LIJeUELTS

e &sLUILGWL SCrmym Cumfléwmederu
2_(HeUMeUSME &ITIeuorLd

A ylwler sThHsLLSEH 0 FESUe6Ter
I|600TL. & SI56T5H6rT160T (st GLOTSH 6V
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B. SI(heumiserflev 2 6Tem helend FImLiL
BleTQMTerflIg6v QLIMTIH6T 3{emLDHEH(HEHS56V.
C. Gflu wombd ulll &HJFFHFSHEHHS
@) 6m6uoTWLITeT GMIGHGL_ (D elemerTay.

D. @ M6l 3|6MeTH SN
Aurora Borealis the so called northern lights are
dueto_ .
A. The atomic collision of the trapped cosmic ray
particles in the earth magnetic field
B. The presence of a special phosphorescent materials
in the poles
C. The interference of solar and terrestrial radiations
D. All the above
35) QUITH S5 S!5.

a) gevid - 1) OGS

b) C&M&H - 2) &\ (Heq.evorT T

Q) SMBISUSTT - 3) Carsmeurf]

d) LDMEHGIT —4) HHISH

A3 2 1 4
B.2 3 4 1
c1 4 2 3

D.4 1 3 2

Match the following.

1) Jhelum = 1) Indus

2) Kosi—2) Krishna

3) Thungabhadra — 3) Godavari

4) Manjra — Ganga

A3 2 1 4

B.2 3 4 1

cC1 4 2 3

D.4 1 3 2

36) GFemeu aurflEemer e LILIG WITF?
A @QBH W TFTHISLD

B. LDIMIBl6V | J& ITIHI G HBIGs 6T

C. B&ILILM 2 6TeM ML & emLoLIL| &6
D. ®IITLD LIEH&F TS S S6T

Service tax is imposed by whom?

A. Government of India

B. State Governments

C. Urban local bodies

D. Village Panchayats

37) siflumeotend CEHTHAS M.

Learning Leads To Ruling
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1) eLPETMITeUGl BH&TevoT(h S LD ST &Hev
GUIITREOTIT 6TETMILD 3JeMP&HSLILIOSRIMS.
2) &MH LoHmib KT QFTLHLFTemn6v

&,60)600T WILD @) [F600TL_ITLD 915 & Te0oT (b)
S LSH60T GUIMG gHUOSSLILILL Sl

A. 1L B. 2 (LD

C.1&2 D. 6T&I6)]LD @)6L6M6V

Choose correct statement.

1) Third five year plan is also known as Gadgil yojana
2) The khadi and village industries commission was set
up during second five year plan

A. 1only B. 2 only
Cl1&z2 D. Neither
38) L1 60T 601 [7600T L ITLD &1H5 Mevor (H)

BLL & 60T (SN &CaTET 6T60T60T?

A. aimienlnenul 10% &6 M&H &6V

B. 5 G&mMg LUHw GCeusmeveumulLlienL
2 _(IH6UMTE & SH6V

C. Qwmss 2.6apTlh 2mHusHulse 8%
QTR afE5HmME 3|eML_FH6V

D. GLDM&600TL. |6D60TSHSILN

The objective of 12th five year planis __

A. To bring down poverty by 10% points

B. To generate 5 crore new job opportunity

C. To achieve average GDP growth rate of 8%

D. All the above

39) GATT eaHhs 6e00T(h HEOL (LM S

UHSSI?

A. 1947 B. 1951

C. 1955 D. 1961

GATT came into existence in the year ___.

A. 1947 B. 1951

C. 1955 D. 1961

40) QUTGBHEMTTSTT (NETCOTHMLD TEMHF
FMIbHSSI?

1) FhensLILIHSSISEN6T 6]

2) @UWIMEMS GUEITMHIS 6T

3) ELNELGHEDT 2_(HEUMTESHLD

A 1&2 B.2&3

C.1&3 D. Q|6MeTHSILD
Economic development dependson ____.
1) Size of the market
2) Natural resources
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3) Capital formation

A1&2 B.2&3
C1&3 D. All
41) GPSHEOTL  LOMBIVBIGHEMET  SHIT6V

auflenEFLILI(0 S S 8.
1) FLICVSIT
2) eanlomEsev LNTCs ey
3) LDSTTTEQLYTT
4) Loeoof1LILLT
A 2-3-1-4
B. 3-2-4-1
C. 4-1-2-3
D. 1-4-3-2
Arrange the following states in chronological
order.
1) Chhatisgarh
2) Himachal pradesh
3) Maharastra
4) Manipur
A 2-3-1-4
B. 3-2-4-1
C. 4-1-2-3
D. 1-4-3-2
42) geuFgplemevll psLerid Aifley
BLEHEUTL.  6THS [HILIQLILD @UBHSI
QuUELUIULLZI?
A. HEOTLIT S|TF WevemLnLiL]
B. Q2 L060T | FH WevemLnLiL]
C. QWIeVTH G TF WevemLoLiL]
D. NI 19619 T wevemLnLiL]
The idea of including the emergency provisions in
the constitution of India has been borrowed from
the
A. Constitution of Canada
B. Weiner constitution of Germany
C. Constitution of Ireland
D. Constitution of British
43) grflumerens C5THAS®MH.
1) 9ex aPfsmTlGln bMlwenmaserT
TR WevemlIL] LGS IV 6L SI60LDHSI6TETSI.

2) g LiemL 2 flemnger
rHWevemLnliL]Ll UGSH 1] 6L
I|6DLDHSI6TETS.

Learning Leads To Ruling
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3) 9L HLeMNGH6T SFFIU6evenLDLIL]
LGS IV- A 6L 6mLDlHSl6T6ng!

AT&2

B.2&3

C1&s3

D.1,2&3
Choose the correct statements.
1) The Direct Principles of state policy are enumerated
in part IV of constitution.
2) The fundamental rights are enshrined in part Ill of
the constitution
3) The fundamental duties are enshrined in part IV — A
of the constitution

A 1T&2 B. 2&3

C1&3 D. 1,2&3

44) SBDHHEUTLUMMIGT  SHUMTETENS
C5THOS M.

1) WwsFeTIUlleTenln 6T6eTm Q&FMev 44a1gl
ATRWevemlIL] FLLS H(BHHHH 60 1976 60
CorsHHLILILLSI.

2) FIOSTLOLD 6T60TM Q&FML DS S HHS 76
LD gpevor(h) 42618 TFWevemoliL] FLL G
FBHSHHHT  epeVld  TFweveminLiLilev

CorsHaHLILLLSI
A 1L (BLD B. 2 DL_(H)LD
C.1&2 D. 6I5I6|LD ) 6V60I6V

Choose the incorrect statement.

1) The term secular was added by the 44th
constitutional amendment act of 1976

2) The term socialist was added by the 42nd
constitutional amendment act of 1976

A. Tonly B. 2 only

C 1&2 D. Neither

45) @GsseuLeummieT  FifllmeTeng
CsTHOSMH.

1) SWFFTSHET SeofllUlL  wemmuiev
Bleuns HEMEVENLNE S

QUITMILIL|6MLWIGUTE6T 6T .

2) SMDEFTE06 Gl LMTH s
IMDFF(HSHEG QUITMILIL|60LUISTGSLD.

3) GUWIKS Semevall el@BLOLD euemy
IMNEFEFT&H6T LIS UG LILITFTS6T.

A 1&2 B. 1&3
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C.2&3 D. 1,2&3

Choose correct statements.

1) The ministers are individually responsible to the
executive head

2) The council of ministers shall be collectively
responsible to the Prime Minister

3) The ministers shall hold office during the pleasure
of the President

A 1T&2 B. 1&3
C.2&3 D. 1,2&3
46) UM QUM HS) W ETeTem S
CsTHOSMH.

1) LOMBlEVBIGETENE SIS SHenevall -
LDITIB] 6V I S 6Tem 61 U 6L
CaIHASHS&HLILGSRMITH.

2) LD &> 6IT60)6) FUMBTWSET -

NS SHEMENAUWITEV CHTHOASHESLILOS T
3) QUMEIGH&HETHEG GWelledT Semevell -

LD 8555 6IT6M 6 UITEV B WILD6DTLD
QFEWLWLUGS MY

4)  Hemevedld GCFHIH6L  LEMOOTWIT -
Q6OTITH LIG) ULITEV [BlWILDGOTLD
QEWwWlILG® MTT

A.3 L (hLD B.2 DL_(HLD

C. QDTS SILD D. 6781610 @)6V6m6V
Choose wrongly matched pair.

1) Deputy chairman of Rajya sabha — Elected by Rajya
sabha

2) Speaker of Lok sabha — Elected by Lok sabha

3) Chairman of public accounts committee -
Appointed by the Lok sabha

4) Chief Election commissioner — Appointed by the
President

A. 3only B. 2 only

C. Al D. None

47) slemevoT YermHLUHenw LGN HEHsID
QFWW rmIS([BHS SITLOMmerid @ wmmLiLiL
Geuevor(pLD?

A. LIMTTMEBLOETM @) (H emeudserflevin

B. n&:&ememneauuiley oL (HILD

C. InmBlevmIGeTenaluiley L (B

D. &5 oI

Learning Leads To Ruling
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The resolution to remove Vice-President can be
initiated in ____ .

A. Both houses of parliament

B. In Lok sabha only

C. In Rajya sabha only

D. Cannot be removed

48) & LD 85 5 600T L6 () M) 61T gflwmerens
CaTHAS0.

1) 1935 ould Leoor(h) @HHW FL L LOTEOTSI
@BHW &6 6T&6L lemnLlemL
2 (HEUTHRWIGI.

2) 1935 &ulb opevor(h) FLLID Fal LTLG
BHTMSMS 2 (HeUTHH WG

A 1 OLGILD B.2 LOL(HILD

Cl1&2 D. 6T816)LD @) 6V6DI6V
Choose the correct answer.

1) Government of India Act of 1935 established the
council of India

2) Government of India Act of 1935 established the
federal court

A. 1 only B. 2 only

C1&z2 D. Neither
49) @Q\HB\W FHeMmevemLn & 6v0T] & 68w merifleor
LS & &ITeULD 6T8 5 6060T 24,6007 (H &6iT?

A 8BS QUBLLD 3606V 60 QIUIS QUIEDIT

B. ©L,MI QUIHL LD 3{6VEVSI 65 WIS U

C. BIT60T& GUHLLD B6V6VGI 65 QIS QUEDIT

D. 62 aUW Gl 6U6emIT
What is the tenure of the office of Comptroller and
Auditor General of India?
A. 5 years or upto age of 60
B. 6 years or upto age of 65
C. 4 years or upto age of 65
D. Upto age of 62
50) Guwileow umphwu 68 @BSHW
TR WevemloLiL] FMFers S 60 6TH 5
LGS WleL GMILLN LU B6TengI?

A S 5 Wsev 11 euedy UGS |l

B. a91&) 6 (nB6L 11 auedd T LGS |l

C.aN1H 14 WnG6v 21 eueny LIGH) I

D. &) 5 (1nH6V 21 auenJ LGS I
The provisions relating to Citizenship are embodies
in the ___ of the Indian constitution.
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A. Article 5to 11 in part Il

B. Article 6 to 11 in part Il

C. Article 14 to 21 in part Il

D. Article 5 to 21 in part Il

51) #flwmerr samm CHTHAS D).

1) 9Fev QHHU G LIGITHET &HLPSE S 60T
(W&  QuUetoT  Semevall (NS HIVL &L
SILDEMLOWITIT SLEUTIT.

2) GHAW QLICTOTSHET ShL,6m60oTLID 1992 LLD
21,600T(H BloeUILL LG,

3) @bBHwmalley CHAW QILIEITHET Heorld
liyeurfl 13 QL& LD.

A 1&2 B.2&3

C.1&3 D. SIeM60TSHSIN
Choose correct statement.

1) Muthulakshmi ammaiyar was the first women
president of All India Women Association

2) National commission for women was established in
1992

3) National Women's day of India is on February 13.

A1&2 B.2&3

C1&3 D. All

52) G LD & 85 600T L 6U M M1 61T eLNEOTMITLD
TreRmHBITeor UMMw Fflwmer samenm
CsTHOSMH.

1) @eurfledr &smevln 1246 — 1279

2) @ef &TusHe GaFmpll CUIrs
FenFHams QSTLBIR UG
A. 1 L (LD B.2 L_(HD
C1&2 D. 678160 @)6V6m6V
Which of the following is correct statement
regarding Ranjendra III?
1) His period was 1246 — 1279
2) During his period Chola dynasty started to decline
A. 1 only B. 2 only
C1&2 D. Neither
53) (WDeredlib s 6T 31\ [h) HITLLG.60
LenLQUW (&S CLNEVSITIIEUIT OIS @) (HIHS6UT
A. QWITmEel BTWEST
B. H((HLOEM6V HTUIGHESHT
C. l6leUBMTS BITWLEST
D. & (H6qevoTLILI BITUWIEST

Learning Leads To Ruling
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Who was the main reason for the invasion of
Muslims in Tamilnadu?
A. Vijayaragava Nayakar
B. Thirumalai Nayakar
C. Viswanatha Nayakar
D. Krishnappa Nayakar
54) giflwmeorensd CHTHAS .

1) 5000 2L600T(M&6T LIPEMLDWITeTS SFbGl
FoG 66t BMsIKlsLD.

2) eamgliuer WHHemTEET  evFlueml L
GTEILD 2 GEVMEHSHHTEV 3, 60T60I6N.

3)  epUTy  eTedTUG  HAbZ  FQeuer
555 &3 60T SIenM NS HSHTLOMEGLD.

A 1&2 B. 1&3

C.2&3 D. 1,2&3

Choose correct statement.

1) Indus valley civilisation is 5000 years old

2) Harappan seals were made up of metal called
steatite

3) Ropar was the port town of the Indus valley

civilisation
AT&2 B.1&3
C.2&3 D.1,2 &3

55) SeumITeT FaMHenm CHTHASM.

1) QUM&HERFSTCIT MMID QML
@LIQUTWS! LTSN GTE 60 2(60LDHSI6TETSI.
2) apylium B&EIWL grel BHESTUI6

S|6MLDHSIGTETSI.
A 1L BLD B. 2 DD
C.1&2 D. 6T&I6)]LD @)6L6Mm6V

Choose incorrect statement.
1) Mohenjodaro and Harappa are now in Pakistan
2) Harappa was on the bank of river Ravi

A. 1 only B. 2 only
cl1&z2 D. Neither
56) QUMT(H S S!5.
a) FUsSMH elevevlmul wLGLey - 1)

@HEHWITN6IT (LNGH6V &6UT60TT ClE360TIT6l

b) DrBR DCUSSHET - 2) @bHwmeller
LNeuoms

0) Wejevorl_ GuLLer Loy - 3) SHFWITRWES
&L
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d) GumHlevmev CHM — 4) SITHW6eVemLOLIL]

Ifzoly (IFTdN

A3 2 1 4
B.2 3 4 1
c2 4 1 3

D.4 1 3 2
Match the following.
a) Sardar vallabhai patel — 1) First Governor General of
India
b) Dr.B.R.Ambedkar — 2) Bismarck of India
) Lord Mountbatten — 3) Swaraj party
d) Motilal Nehru - 4) Drafting committee of
constituent Assembly

A3 2 1 4

B.2 3 4 1

c2 4 1 3

D.4 1 3 2
57) GLb 2 6Temeuf&EHeT 1931 Qylb 600D
SITEF OB ITL. 19 65T g LILIemL
2 flenwn&seT SILMTOTSHMS UGSSHeUT
wrg?

A. LMoL SRIGTHT HevssT

B. 26U&J6VIT6L GH(H

C. GamUMmev & (He.evor G&HMTEHG6V

D. GmHlevmev GmH(H
Who among the following had drafted the
Fundamental Rights resolutions at the karachi
session, 1931?
A. Bala Gangadhar Tilak
B. Jawaharlal Nehru
C. Gopala krishna Gokahale
D. Motilal Nehru
58) GLpS&evoTLUMMIET LSS 0SW Lmnlw
grflumeT samenm CHTHAS M.

1) 4SS G 2 uR6T BHTeoTe:malg Quflul
LDSLOMGLD.

2) CaIaNs LS5 InGSLD @ evmiensdullsavin
QBHTHLPE G T WITeIeVID LITEI6VTEHE

& ITevoT L1LI (H) G 60T M 60T
A. 1L (LD B. 2 nL_(hD
C.1&2 D. 6816)]lD @) 6V6m6V

Which of the following statements are correct
regarding Buddhism?

Learning Leads To Ruling
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1) Buddhism is the world’s fourth largest religion.
2) Theravada Buddhism has a widespread following in
srilanka and southeast Asia.

A. 1only B.2 only

C1&2 D. Neither

59) & LD 85 5 600T L6 (D) M) 61T Fflwmerens
CETHOS0.

1) ®uUs Guigens ploelwel] wf LUSsT
SLAIT.

2) GUSIsEr  s&meuld  @iSHuwmeller
QUITMETEVIDMSS SHSLILOG M.

3) GBLSTSH6T6T Hemeub&TID LIMLeSLSH T

G LD.
A 1&2 B. 2&3
C.1&3 D. 1,2 &3

Choose correct statements.

1) Gupta dynasty was founded by Sri Gupta

2) Gupta's period was considered as Golden Age of
India

3) Capital of gupta empire was pataliputra

A1&2 B.2&3
c1&3 D.1,2 &3
60) SL&sTLeumMIeT  FlWmerens
CsTHOS M.

1) SeVaUGHMaqy WMMID [BMHTIEI 60T
@ (HeUHLD Feollelq. &7 ETVSHNHF
CEIHSHEUTEET.

2) &0 Seflegs)y CUIFHev LIFuevLnmeot
LO(BSSIENT SLEUT.

A 1L BLD B. 2 DD
C.1&2 D. 678160 G)6V6M6V

Choose correct statement.

1) Ashvagosha and Nagarjuna both belongs to
Kanishka period

2) Charaka was the famous physician in Kanishkas's
empire

A. 1 only B. 2 only
C. Both D. Neither
61. Find the reflex angle of 60°.

a. 310° b. 320°

c. 300° d. 350°

60°-651 etTouemens GHMevuild 6T6tTE0T?
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a. 310° b. 320°

c. 300° d. 350°

62. Sum of three consecutive integers is 45. Find
the integers.
a. 15,16, 17
c.13,14,15

b.14,15,16
d.16,17,18

SIH55058! aubHD cysoi)| (W(psseler Fahsev 45
6T6fl6v DG (LP(L0S&HEM6NE HMETTIS.

a.15,16,17 b.14,15,16

c.13,14,15 d.16,17,18

63. If the standard deviation of a set of data is 1.6,
then the variance is

a.04 b. 2.56

c.196 d.0.04

@@ Usitefl afleungHlesr HL aflevssd 1.6 eresflev
215651 aflevs & aujs s eqnafl (LFeumLIg)

a.04 b.2.56

c.1.96 d.0.04

64. The area of a sector of a circle of radius 21 cm
is 231 cm? Find its central angle.

a. 45° b. 30°

c. 60° d.120°

Spd 21 Q&S whHmw ugiueney 231 Q&L

Q& mevuT(H 6iTeM aul_L GasmevorL u@SHluflesr
60LOWE BB M6TTIS6M8 SHIT6TTI5.

a. 45° b. 30°

c. 60° d. 120°

65. 15% of the total number of biscuits in a bottle is
30. The total number of biscuits is

a. 100 b. 150

c.200 d. 300

Learning Leads To Ruling
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Q@ umligeSlev 26item Qnss Lilevs (haerfleor
etesteuoflGemauiles  15% eval Bser 30  eresfley,
HevaL (Hseflett Qonss erevviessilsema

a. 100 b. 150

c.200 d. 300

66. Find the LCM of 12 (x-1)% and 15(x-1) (x+2)2.

a. 60(x-1)3(x+2)> b. 60(x-1)

c.3(x-1) d. 3(x-1)*(x+2)*

12 (x-1)% wmmd 15(x-1) (x+2)%657 15.4).10 snevoTs.

a. 60(x-1)3(x+2)? b. 60(x-1)

c. 3(x-1) d. 3(x-1)*(x+2)*
67. Simplify : 5V3 + 18V3 — 213

a. 15V3 b.21v3
c.25+3 d. 11v3
&(H5GS: 1 5v3 + 18V3 — 23

a. 15v3 b.21V3
c.25+3 d. 11v3

68. Which of the following is not a prime number?
a. 241 b. 337

c. 391 d.571

S5 5 6vTLaUMHNIl6V 618 LIS 6T68T 3160607
a. 241 b. 337

c. 391 d.571
69. A number when increased by 12% gives 224.

What is the number?
a. 248 b. 212
c.236 d. 200

QUH elevremennt 12% sal (HoCUNG) 224 HemL gm0
SIHS 6T6VTTENIETVTS HIT6TUTS.
a. 248 b. 212

c. 236 d. 200

Page 12 of 18



http://www.winmeen.com/

Group 4 GS Model Test

70.20% of (A+B) = 50% (A-B). Find the ratio of A and
B.

a.7:3 b.3:7

c.3:8 d.8:3

20% of (A+B) = 50% (A-B) etesflév A wimd Buflesr

allflBID HMevo1s.
a.7:3 b.3:7
c.3:8 d.8:3

71. In a village, 15% are children, 40% are women.
There are 900 people in the village what is the ratio
Men : Women : Children?

a.9:7:4 b.9:8:3

c.7:9:4 d. 8:9:3

Q@ HrmosHlev 15% GHeng s, 40% GLeTTISET.

SgmosHlest Qonsgo 900 18861 2 6iTenest 6levflev

O ETUTG 61T QUETTTSHET.  (HRIHENSHET  6T6TM
allfls56m58 &Nevo1s.

a.9:7:4 b.9:8:3

c.7:9:4 d. 8:9:3

72. The simple interest on a sum of money is % of

the principal. Find the rate percent and time if
both are numerically equal.

a.8% %, 8 \ayrs b. 7%, 7 y1s
C.7T%%7%yrIs d. 8%, 8 yrs

e GIUiLL Gsnensuilssr  Hesfleulipunesg)
iF6Sletr % LDL51(88(& FLOWD. Ul lgais (LD, 6u(THL(LPLD
6T6BuT w#lileo &L0LOMNS BmH&EWweUNg)
UL 1965 SHEMBHUILD, 6U(HLEENSUILD SIT6TDT.

a.8 %%, 8 V2 eu(mLmi&elT

b. 7%, 7 eu(pL a6t

Learning Leads To Ruling
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C.7%%, T Y2 0u(HLEIGET
d. 8%, 8 su(pLrageT

73. A certain sum of money amounts to Rs. 8880 in

6 years and Rs. 7920 in 4 years respectively. Find

the principal
a. Rs. 12000 b. Rs. 6880
c. Rs. 6000 d. Rs. 5780

QB GOILILL Sigevness) 6 SpesoGseflsv em. 8880

psab 4 euipsefles em. 7920 psebd
wmIHMs) eTeufleb iFen6vs: SNevoTs:.

a.em. 12000 b. erp. 6880

c. em. 6000 d. e. 5780

74. If the coefficient of variation of a collection of
data is 18 and its standard deviation is 3.42, then
find the mean.
a. 19 b.36
c. 61.56 d.34.2
Q@ yeefl efleungHlett onmium_ G5 Qap 18 wmmib
HlLallevssd 342 eefls  ger  FalBEF
syn&flenws Sneoors.
a. 19 b. 36
c. 61.56 d.34.2
75. The value of 48+ 12 x (g of §+% of g) is
a.1: b.5%

3 3
c.3 d.12

9 4 3 2 . .
48+ 12 x (Gof 3+ of 3) 601 AL
al: b.5<
3

3

c.3 d. 12
76. What percent of 3% in 5%?
a.70% b. 50%
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c. 40% d. 60%

5% &8 3% -6t1 afl(&&n (D eTedTev1?

a.70% b. 50%
c. 40% d. 60%

. .o . 789X789X789+211x211x211
77. Simplify : 789x789—789x211+211x211
a. 578 b. 1000
c.1578 d. 587

. .. 789%x789x789+211x211x211
&(H5GS: .
789x789-789%x211+211x211

a. 578 b. 1000

c.1578 d. 587

78. The L.C.M. of 22, 54,108, 135 and 198 is
a. 330 b. 1980

c. 5940 d. 11880

&6 Qan@sslul(heter eevoseflesr  15.Qum.w.
SM60015.
22,54, 108, 135 wmmib 198.

a. 330 b. 1980
c. 5940 d. 11880

79. The sum of a number and its reciprocal is
g Find the numbers.
a. 3, b.3,-3

c.2,

N W]

d.5 =

5
Q@ etevor HMID UB6oT HemeoSiflullest Fa(H60
; eT6ufl60 161 @\EUETITS6IT WMemIEU?

a.3, b.3,-3

NIk Wk

c.2, d.5, _?1

80. The principal that will yield a compound
interest of Rs. 1632 in 2 years at 4% rate of interest
per annum is Rs.
a. 20000 b. 25000

c. 30000 d. 35000
Learning Leads To Ruling
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4% pevu1(h eully eizLiLg 2 Sy evoi(hserfley emp. 1632

ol (b QULlg S(HLD HF6V €MH. _______ 5 BHEBGLD.
a. 20000 b. 25000
€. 30000 d. 35000

8l. 2019 Cologne uUmM&eIM 2 6u8
Camlemuuiley, Weorm Gl emLO6rV6DTID
e'h S LNflefleévL ks LL QeuedTmITF?

[A] 64 SGBeuIT [B] 60 &\ GeurT

[C] 51 & GeurT [D] 54 & GeurT

Meena Kumari Maisnam has clinched gold in
which category at the Cologne Boxing World Cup
2019?

[A] 64kg [B] 60kg

[C] 51kg [D] 54kg

82. eTOOMEBleV WD&&SH6T, FUSLSH 6L 66a9®
L& & mevor(h) G & IT600TLTLY.60TIT?

[A] &sJeoTTL ST

[B] Gsgerim

[Cl 24687 LITEH& D

[D] Q& svImIGTeoT T

The people of which state has recently celebrated
“Vishu” as their new year?

[A] Karnataka [B] Kerala

[C] Andhra Pradesh  [D] Telangana

83.2019 oy Lb 1,600T(H ¢.L9.CR I|LISI6L &H6VITLD
86007 (D) L9119 LI L| 5 (61H &5 &5 IT60T N GT: 1T )
GUITLDIB ITET TS 60 60TWITEITIT 6l (5 &
UMM Weur WITF?

[A] DST &L [B] 917e2®60T @mMeVLILIT
[Cl g.C.5mI [D] AL Cym& Smerv
Who has been conferred with Lifetime
Achievement Award-2019 at the 4th APJ Abdul
Kalam Innovation Conclave?

[A] Mamta Kharab [B] Arjun Halappa

[C] AK Singh [D] Amit Rohidas

84. SCUITFLIG @ 5Lh QeuerfluflL
UBISRSEEh&E ST SrauflemsFll LILLquwedle
@Lw V955 QHH W UK eT5?

[A] hdfc eumi &) [B] icici eI

[C] idfc eurmIG) [D] SBI
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Which of the following banks has topped
Forbes&#39; list of Indian banks 2019?

[A] HDFC Bank [B] ICICI Bank

[C] IDFC Bank [D] SBI

85. 2019 =28 mH&ETCuTT 2 flemn
& eord B 6ot (World Consumer Rights Day WCRD)
& (IHLIQ LIIT(IH 61T 6T6dT60T ?

[A] Bluswwmer KYILLY 2 05H5M5
H&HICAMTIHSHTH 2 (HaUMsHEGeaS!. - Building a
digital world consumers can trust

[B] m&siCeaumpssmer  BHeow
QL MIeUGI - Consumer Justice Now!
[C] muswmer evwMrl  swrfliyseT -
Trusted Smart Products

[D] Blwmwinment 1985l L 6L Flhend @)L_MbI860)6IT
2 (heumsGeugl - Making Digital Marketplaces
Fairer

What is the theme of 2019 World Consumer Rights
Day (WCRD)?

[A] Building a digital world consumers can trust
[B] Consumer Justice Now!

[C] Trusted Smart Products

[D] Making Digital Marketplaces Fairer

86. 6TIH S QG Mem6VGEIHITE S eLH6ULD, 6UIT6EDTl 6L
pWeumenrgser wdluliev @ upHsl 13
eveSlwetr eperfl oLeOOT(RHSH6T HNTSH 6L
2 6iTem 83 Supermassive &(@BHLIL| SI6M6EMTSH6T
&evoT(h LI &G eorj? [Through which telescope,
astronomers have discovered 83 supermassive
black holes 13 billion light-years away from Earth?
]

[A] Spektr-RG [B] Astrosat

[C] Subaru [D] Hitomi

Through which telescope, astronomers have
discovered 83 supermassive black holes 13 billion
light-years away from Earth?

[A] Spektr-RG [B] Astrosat

[C] Subaru [D] Hitomi

87. o ®w UVrmhHwssmemer 2019
SMNETA6ULS @\emeney eNBE abHS
ABHH W QS TLS6L (nemeTeuT QLIMMITF?

[A] LUSLOBITLIET G&ITLITEVIT

[B] NpmamLom Q&eveumGeor

2 |_Geor
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[C] NGz 6lq & TeuT6y

[D] @& GLDT60T

Which Indian entrepreneur has been honored with
the 2019 Commonwealth Youth Award for the
Asian region?

[A] Padmanaban Gopala

[B] Brahma Chellaney

[C] Ritesh Agarwal

[D] Sanjay Kumaran

88. 2019 WG EHETOr GHTUL Ufla
QUMD &SHMEFSGLL Feuevy Greta
Thunberg 6Th& HITLeL CFTHH6UT?

[A] @55 med [B] erve_edr

[C] @217 06w [D] LNy edTeiv

Greta Thunberg, who has been nominated for 2019
Nobel Peace Prize, is an environmental Activist of

which country?
[A] Italy [B] Sweden
[C] Germany [D] France

89. ‘QTLMeTELL: GFaflM &) LI oL
@mBSwm (Undaunted: Saving the Idea of India)
TN USSHHES5MS qWwHW  THFIWey
SEm6VeUT Wmy?

[A] 55 semT [B] L. & OLTLD

[C] 2ypevor QegL6dl D] &+61qL0IT eVeU T el
Which political leader has authored the book
‘Undaunted: Saving the Idea of India'?

[A] Shashi Tharoor

[B] P Chidambaram

[C] Arun Jaitley

[D] Sushma Swaraj

90.39 eugl G5\ W aflememwimL(p) 2022 &&TeoT
G EMTLILLT6U F6iT6uTID 6TSI?

[A] Sumatran serow

[B] Gayal

[C] Clouded Leopard

[D] Ox

Which of the following will be the official mascot
for 39th National Games 2022?

[A] Sumatran serow

[B] Gayal

[C] Clouded Leopard

[D] Ox
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9. sFUBUSHO @DHS USWL QuUOHMD
IS S METT&HEBET WY '&HJT &F&HST' 6T6drm
USSHSMS TWH WS ?

[A] Vishnu Wagh

[B] Mangesh Padgaonkar

[C] Arun Kolatkar

[D] Namdeo Dhasal

The book ‘Sudhir Sukta’ was written by which
acclaimed author, who passed away recently?
[A]Vishnu Wagh

[B]Mangesh Padgaonkar

[C]Arun Kolatkar

[D]Namdeo Dhasal

92. gjeoremouiley SHMeULDMeOT @ 6ue6vTl6oT
TGRh S yer, THSS slemmuilev
WKlyueuLomeoTEUT?

[A] 9T &lwiev

[B] u&S s

[C] ellemeTwimL_ ()

[D] ®emyLiLL LD

Lenin Rajendran, who passed away recently, was
the renowned personality of which field?

[A] Politics

[B] Journalism

[C] Sports

[D] Film Making

93. ®@Cr Gumliguiley CaHLILTTS 63h
ANGOsEL SUUT IBE CHESHSM6T
KigHsHeury wmy?

[A] LD TET {8106V

[B] refls eusSL

[C] MS Ggmeoof]

[D] FUMT6n S{SHLOSI

Who of the following has become the wicket-
keeper captain with the most number of catches
in a match?

[A] Kamran Akmal

[B] Rashid Latif

[C] MS Dhoni

[D] Sarfaraz Ahmed

94. CLOMGSGHOSTLIFF L06m6v8 61l el (B HSI
&HNIFGLPNE S Ca (B adlememell&@LD
SWeBTLBH S 5 T6U [T 161 & 60 61T
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S|&NMIUSNHMS Q\ & 60T6M 60T
2 wiFBHBIneTms Smev
2_(HeumsaELLLBETeT (&WelledT &emeveury
wimg?

[AIMM &5 Creq

[BIN &&e6iq

[Clas®EH TMeECabhS T LML

D] N weups FCemH W

Who is the head of the committee which is formed
by Madras High Court to weed out invasive plant
species from Western Ghats?

[A]M M Sundaresh

[B] N Sathish

[C] Cherukuri Raghavendra Babu

[D] Priyavrat Sisodiya

95. G — 77 G W edletT emeveu T 6Ter BT
TSI1?

[A] L@ evorig

[B] Eeorim

[C] et 15

[D] LiImeven G eorLd

Which country has taken over the Chair of the
Group of 77 (G-77) for 2019?

[A] Burundi

[B] China

[C] Egypt

[D] Palestine

96. | 600T60I L0 & G\ &I & 611 6L
@LLQuUmHmIeTer anMibs @6r eumGev,
L9l 6dTeu (HLD 6T1H & & &l 60 (L] L 60T
Q5L enLWSI?

[A] neofls 2_IfleminsseT ell(p Sl

[B] Gumpmerflgserfledr LOmas mevor LD

[C] &6v6 BlMIGUETLD

[D] oW ILIWI6TOTI.

Wilayah of Hind, which is in news recently, is
associated to which of the following fields?

[A] Human Right award

[B] Militant Province

[C] Educational Institution

[D] Pilgrim

97. mLUUmeoor(lR 268 QFalledlwiy
&) 6015 518 8 TEUT & (IH LI G LI T(H 6T 6T60T60T?
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[A] Nurses A Voice to Lead — A vital resource for
health

[B] Nurses A Voice to Lead — Care Effective, Cost
Effective

[C] Nurses A Voice to Lead — Health is a Human
right

[D] Nurses A Voice to Lead — Health for All

What is the theme of the 2019 edition of
International Nurses Day?

[A] Nurses A Voice to Lead — A vital resource for
health

[B] Nurses A Voice to Lead — Care Effective, Cost
Effective

[C] Nurses A Voice to Lead — Health is a Human
right

[D] Nurses A Voice to Lead — Health for All

98. mLLUMeor( CEAT S\mbs FIeauGCsHs
UhSIeTEFTeTyms @Qsifley
QFWwWLILL M eTemeuy Wimy?

[A] gervluifs i

[B] G6uS LI Wimgeu

[Cl rad & & meor

[D] 915:@5T61q LD 60T

Which of the bowlers has been adjudged as 2019
CEAT International Bowler of the Year?

A] Jasprit Bumrah

B] Kuldeep Yadav

C] Rashid Khan
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D] Ashutosh Aman

99. Wereu@pld &SHLPmHUbBSlIeTsFmeTIserev,
wrmy 2eu®er WSah QeumnsIyLnmeor
QU evoTS 6T ODI & LpMHLIh &I eSF&FmemFmeumiy?
[A] Ga g s fleor LN FmGULifl&

[B] meorm AF (Sana Mir)

[C] &g®6v60T BB MervEUTLA

[D] pr@eiveurfl Q&S

Who of the following spinners has become the
world’s most successful women's ODI spinner?

[A] Cathryn Fitzpatrick

[B] Sana Mir

[C] Jhulan Goswami

[D] Rajeshwari Gayakwad

100. UNICEF @60t GL 60l C& LoevflgmiSlnment
alhasl eupmI® QS&eTrel&sLILIL66iTerT
@BHS\WIT Wmy?

[Al GBS GLomig

[B] WA lwmaigm G&FmLiym

[C] Gusm UL &T

[D) Fevoriq LNpams LI

Which Indian celebrity will be honored with the
UNICEF'’s Danny Kaye Humanitarian Award?

[A] Narendra Modi

[B] Priyanka Chopra

[C] Medha Patkar

[D] Chandi Prasad Bhatt
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Group 4 VAO General Studies Model Test 15 — Answer Key

Q A Q| A Q@ A Q A|a]a
) | A |2y b [ap| B |6)| c |8)] D
) | c |22 c |4 B || B [82)] B
3) | A |23 B |43 D |63 B |83 C
) | B 290 B |499| A |69)]| c [88) | A
5) | A 259 c |45 B [e5) | c |85 | C
6) | D [26)| B |[46)| D [e66) | & | 8) | C
7" | Al2an| b |an| c |en]| B [87) ] A
8) | c |20 A |48 | B [68) | c [89 | B
9 | B |29 c 49| B [69)| D [89) | B
100 | D [30 | c |[50] a |70] A o] c
m | o |[sy|[c|[sy|[pD |[m]B || a
12) | c [ B |82 c |7 clow]oD
13) | B [33)| b |8 B |[73)] c|o]|nD
14) | A [39] a [s9] A [709| A |og]| c
155 | D [3) | c [s5 | D |7 | D |os| D
16) | B [36) | A [56)| c |76 D |96 | B
17 | c [sn]|c|sn|B || B|on]| D
18) | A [3 | D[] c |7 c o] a
199 | B [39)]| A |59 D [79] c o] B
20| D [40 [ D [60)| c [80) | A [100)] B
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